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Zte sin cos tan
34° 0.5592 0.8290 0.6745
35° 0.5736 0.8192 0,7002

36° 0.5878 0.8090 0.7265

@ (1) x=34°, y=0.8290 (2) 36.225
@ (1) x=36° y=0.8142 (2) 34.235
® (1) x=36° y=0.872 (2) 36.215
@ (1) x=35° y=0.8192 (2) 40.45
® (1) x=136°y=0.802 (2) 36.95
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7. sin 0° x tan 0° — cos 0° 9] ZF= A , sin 90° X cos 90° + tan 0° 9] S
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@ 1-cos50°
® 1-tan50°
@ tanb0°

® sin50° + cos 50 °
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Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355
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@ sin%30° + cos?60° =1
O sin30° =cos30°x tan30°
© sin30° +sin60° = sin90°
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18. cos(2x+40°) = = & W, tan 6x &) 27 (T, 0° < x < 90° )
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19. sinx = 0.2419, tany
e

= 02867 & o, thZollA Foi 2E HLL

Zte sin cos tan
14° 0.2419 0,9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0,9613 0.2867
® 19° @ 30° ® 31° @ 32° ® 33°
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® sin(x+y) =0.77
® cosy = 0.82

® tany = 0.70

0,40 0,82 1 z

@ siny = 0.82

@ cos(x+y) =0.40



